[deg]

1 do

Rivet 3.1.10, = 3.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

13000 GeV pp Jets
T - r - T - r - 1 1 - Tt - 1 - T T T T [
0.4 — ) | LS
Z AQ(jj) (CMS back-to-back jets) .
535 - | CMS 7]
ST - o- Pythia 6.428 390 B
© ~ -8~ Pythia 6.428 391 .
0.3 -+~ Pythia6.428 392 7
[ -~ Pythia 6.428 396 N
[~ --2-- Pythia 6.428 397 7]
0.25 |~ --¥-- Pythia 6.428 398 —]
0.2 — =
- .
0.15 — P -
0.1~ e .
- P -
0.05 :— "Es_sl'_—_-_—_‘?_-!.?-fifl-'— _:
L .-_-_—_'r.'s"'é?é:*;*‘”s 7]
a _l | | | | | | | | | |_
:| T T T T | i { { } |:
2 b =
g - ]
e -
S 1
.
S o
x
0.5 — _
| 1 1 " 1 1 " | " 1 1 " 1 1 " |
170 175 180



	Contents
	Page 1


